TIME , SPEED AND DISTANCE-(893, =Ta 31 &)

TYPE
A boy goes to school at 3 km/hr and return at a
speed of 2 km/hr. If he takes 5 hrs in all. Find the

distance from his village to school?

TF qSHT 3 km/hr FT I § FHeA STAT 8 3T 2 km/hr
#T AT | ATIH AT § T IH T 5 hr FT THT A0C@T
| T T & T T LT AT H?

(A) 4km (B) 5km (C) 6km (D) 7km

A bus travels for 7 hours, the first half at 30km/hr
and the second half at 40km/hr. find the total

distance?

e 8 AT g0 7 e Arr 30km/hr TAT AT SATET
AT 40km/hr Y 1A & TF FIAT & T TA 7 He FT 97
aar g | @ FW T AT@ w2
(A) 240km (B)250km  (C) 260km (D)none

A man travels a certain distance by train at 25
km/hr and walk back at 4 km/hr. The whole journey
took 5 hr 48 min, what distance did he travel by

train?
UF ATEHT 29 | T AiEa T 25 km/hr & =T F 7
FTAT 2,3 4 km/hr £ 970 T FTI9 I3 FART AT

9 TAT 9 | Fof 5 hr 48 Az avrq & ar s1a 0
£ 3 3T & Frl g AT A 2
(A)20km  (B)21km  (C)22km (D)23km

TYPE
Two persons cover the same distance at speed of
25km/hr and 30km/hr respectively. Find the
distance travelled if one person takes 25 minutes

more than the other?

31 =< 25km/hr & 30km/hr FT 9T 7 TF THT 2T
T Fd & | 7f uF =t gy § 25 e s aar g
v T AT F?

(A)62.5km (B) 63.9km  (C)60km (D)72km

A man covers a certain distance from house to
office, if he travels at 30 km/hr, then he is late by
10 min but if he travels at 40 km/hr then he
reaches his office 5 min earlier. Find the distance

from home to office?

UF AT A F AR A uF [fEra @ 30 km/hr F
I & T FaT g af ag 10 fHe o g1 simar 8, afhT
7% a8 40 km/hr #F =1 § 77 F2 a1 5 WfAe sifea
STeRt Tg = STaT g | aF 7% F SAhe it & A1q H4?

(A)20km  (B)30km (C)40km (D)50km

6. Starting from his house one day, a student walks at

2.5 km/hr and reaches his school 6 min late. Next
day he increases his speed 1 km/hr and reaches
the school 6 min earlier how far is the school from

his house?

T &7 UF agT o "9 F A A g9T 2.5 km/hr F¥
J1 F AT g ar 6 e 9= g1 Srar g, o faw a8
AU AT 1 km/hr F&T 9@T g 97 T 6 e st
Ted ST § T9 9% § A &l g1 A7 HL?

(A) 7/4km  (B)4/7Tkm  (C) 7/3km (D) 7/5km

A man covers a certain distance by 10 km/hr and
becomes 15 min late. But if he travels the same
distance with 12 km/hr then he becomes 5 min late

find the distance?

TF seHT uF [T @ 10 km/hr & ST4AT € ST 15
ffe oz g1 Sar 8 o @ 12 km/hr FF =319 § S0
ar 5 e e g1 smar &, & AT w92

(A)12km (B)9km (C)10km (D)8km

TRAIN
If a train travels with a speed of 60 km/hr crosses a

pole in 30 sec. find the length of the train?

60km/hr T =TT T SATH ATSAT F1E o T =¥ F7 30
e H U AT | AT I T AT I w2
(A)500mtr  (B)600m (C)700m (D)800m

In what time a 100 m long train travels with a speed

of 30 km/hr can crosses a man?

1004t <=t g 27 30km/hr FT =7er & FRefy et =7
Rt 3T & 9T FAT?
(A)10sec (B)12sec (C)14sec  (D)16sec

TYPE

. A train running at a speed of 72 km/hr crossed a

260 m platform in 23 sec. Find the length of train?

72 km/hr ¥ =FTT T I ATAT FE 3T 260 W
TR FT 23 sec H U FAT & | AT 2T T ATETE
qqTAT?

(A)100m  (B)200m (C)300m  (D)400m

. A 275 m long train crossed a platform of equal

length in 33 sec. Find the speed of the train.
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2759 TFfT 3 AT ST AFATS F WIEHH HT 33
e | T AT 2 | T 2 AT T AT HA?
(A)40km/hr (B)45km/hr  (C)55km/hr (D)60km/hr

RELATIVE SPEED

. Two trains of length 100m and 80m respectively

run on parallel line. If they run in same direction,
they cross each other in 18sec, but if they run in
opposite direction, they cross each other in 9 secs,

find the speed of faster train?

a1 29 et @waTe FHer 100m i 80m g | UH
THATAT & ¥ T TGl &, o F UF ot {3 § =er ar
TF AL T 18 sec H T T ofa(l @ ot o faadia
o 7 & A1 9 sec § T FT Al @, AT O Fad ATl
& T AT AT FL?

(A)15m/sec (B)16m/sec (C)17m/sec (D)18m/sec

. A ftrain takes 18 seconds to pass through a
platform of 162m long and 15 seconds to pass
through another platform of 120m long. The length
of the train is?

T TA162m oTF TahHE F ¥ F9 § 18T qoaT
120m <TF WIEHTH T 1€ F7 | 15 The F7 G707 AT

2 | T RIS Y qwars Ghasr 82
(A) 70m  (B)80m (C)90m (D)105m

TYPE

. Two trains leaves from Delhi to Jaipur at 8:30am
and 9:00 a.m and traveled at 60km/hr and 75 km/hr
respectively. How many km from Jaipur will the two

trains meet?

2 & ST 7 faeeft % foro #99r:8.30 am 3T 9.00 am
AT grdt & AT 39T I FHer: 60 km/hr 3fT 75
km/hr &, 79 STIIR & fRaet 27 9 T o FHeiT?
(A)130km (B)140km  (C)150km  (D)160km

. A train travelling at 25 km/hr leaves Delhi at
9:00am and another ftrain traveling at 35 km/hr
leaves at 2:00pm in the same direction. How many

km from Delhi will they meet?

25 km/hr FT =1 F TF o gag 9:00 am Tl &
FeAAT &, T TAL e 35 km/hr & =TT T TTEL 2 TN
FAdr § oY I Rom # Sy g, ;v w4 A G &

TRt T o2 T o foentT ?
(A)437.5km (B)438.5km (C)439.5km (D) 440.5km

TYPE

16. A train overtakes a man going along the railway

track at a speed of 6 km/hr in 10 secs. If the length
of the train is 200m. Find the speed of the train?

T o UF &1 [T § T &F % 979 9d gu aHT &l
10sec H TTT FLAT 8, X & st FaTs 200 ¥ g, =%
AT T AT 6 km/hr g T 27 ¥ AT T FL?

(A)78km/hr (B)80km/hr (C)82km/hr (D) 84km/hr

TYPE

. Two trains start at same time from delhi and jaipur

towards each other at the speed of 80km/hr and
95km/hr. When they are at meeting point, the faster
train covers 180km more distance than the other.
Find the distance between delhi and jaipur?

faeelt Y ST & 3T 2 UH-gAL A ah 80km/hr 3T
95km/hr #t =T & FerdT & | T o et & a7 a9 oo
AT o F TAL F 180km SATET T T FT ot ¢ |
et i e % &= 7 T Farsn?

(A)2000km (B)2100km  (C)2200km (D)2300km

. Two trains start at same time from two stations

towards each other at the rate 20km/hr and 25
km/hr. When they are at meeting point the faster
train covers the 80 km more distance than other.
Find the distance?

31 2T TF AL A aTE TFH G697 97 20 km/hr #T 25

km/hr #T =T § FAAT F FAT § oG F HeAdr g ar
IS =FAT ATAT 2 AT & 80 km SATET 9 AT ¢ | T
FAT 2T % S T AT FA?

(A)720km  (B)730km  (C)740km (D)750km

TYPE

. A train starts from Jaipur at 10:00 am and reaches

Delhi at 3:00 pm. Another train starts from Delhi at
11 am and reaches Jaipur at 6:00pm. Find the

meeting time.

TF A TR F gag 10 T Tt g o7 3 aof Aot
Tedt &, gEd 3 Rt § o 11 a5 T & 97 6
T STAE T AT &, T &7 F877 F7q F17?
(A)1:10pm (B)1:20pm (C)1:30pm (D)1:40pm

. A train starts from station A at 7:00 and reaches

station B at 7:00pm. Another train starts from
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station B at 9:00am and reaches station A at 5pm.
Find the time when they meet?

U 2 T A | qag 7 a9 T Il g, 377 ¥29r 1 B
AT T 7 F qgadl 8, TaT o B & gag 9 & &
BIAT 8 3T o &1 5 asf A 9% Tg=dl &, e &1 997
T FU?

(A)1pm (B)2pm (C)3pm (D)4pm

TIME SPEED RATIO
. By walking at 6/7t" of his usual speed a man is 12

min late. Find the usual time taken by him to cover

that distance?

TF AEHT U [T T AT aredtas A1 A 6/7
AT | TF FY T 9 Tqe7 aF 9g=+ & 12 Mz sz ar
STAT 2 | & IHT I FT ATEqA® A1 F TF FIA § AT
FTAT FAT AT 7 ?

(A)68min (B)69min (C)71min (D)72min

. A person running at 7/11t% of its usual speed
reaches a place in 22hr. how much time would he

have had he run his normal speed?

TF ATEHT AT qTeatas a1 F 7/11 97 & Rt Srg
22 5T H WEH AT §, FE AT FUAT ATEAAF AT F
STt a1 FohaeT JHT F=T Far?

(A)8hr (B)9hr (C)10hr (D)12hr

TYPE

. Excluding stoppage, the speed of bus is 54km/hr

including stoppage it is 45km/hr. How many min

does the bus stops per hour?

fomT =5 a9 7 sferd =t 54 km/hr 8,30 6 #7997
TR s Y sfEd =T 45 km/hr 8, q7 1T Y AT T
ot =ar e fafae =6t 82

(A)20min  (B)15min (C)12min  (D)10min

AVERAGE SPEED

. A man travels from A and B at 20 km/hr. and come

back from B to A at 30km/hr. find the average

speed of the whole journey?

UF EH T A & B 20 km/hr &1 =10 & a1 8 T B & A

arfae 30 km/hr &1 =T & AT g, T ITAT AT AT
T FATT L ?
(A)23km/hr (B)23.5km/hr (C)24km/hr  (D)25km/hr

. A travel from A to B a 39 km distance with a speed

of 15 km/hr and also he travels from B to C a 52km

distance with a speed of 18 km/hr. find the average

speed of whole journey?

UF EHT A F B 39 km # T,15 km/hr ¥ =1 7
STaT @ 3T B & C 52 km it gL, 18 km/hr T =1 &
STAT &, ired =Tl [T AT ?

(A)630/38km/hr (B)639/38km/hr  (C)630/39 km/hr

(D)640/19km/hr

Boats and Stream

. A boat row down a river at 21 km/hr and row up

the river at 9 km/hr. What is the velocity of the

stream?

T 919 dAquarg 21 Ffi/EeT =F1e ¥ #67 sevaE 9
Toreft/EeT &t AT & AT g, AT LT 6T FTe AT H2?

(A)6km/hr  (B)7km/hr  (C)8km/hr (D)9km/hr

. A swimmer can swim downstream at 14 km/hr and

upstream at 6 km/hr. find the speed of swimmer in

still water?

T qXTF AT % Aqr 14 TEfysar f = 9 i g
i ot 6 frfi/ser &t =1 | 9war 8, oifd o §
LT T AT AT HL?

(A)15km/hr (B)12km/hr  (C)10km/hr  (D)8km/hr

. The speed of a boatman in the direction of stream

is 15 km/hr. While the speed of stream is 1.5
km/hr. What is the speed of boatmen against the

stream?

gTT % T T AT 6t 91 15 Fei/eer g, sath
T T =T 1.5 foefi/ser g, amer & o arfaes fir
T ST FL?

(A)10km/hr (B)11km/hr  (C)12km/hr  (D)13km/hr

. A man rows 750m in 675 seconds against the

stream and return in 7.5 minutes. Find his rowing
speed in still water?

T FTh 9T & Tfada 750m 67585 § STar & | 3%
7.5 = § 979 orar g | 97 ofq S § SHehT A AT
FL?

(A) 3km/hr  (B)4km/hr  (C)Skm/hr (D)6km/hr

. A swimmer swims 36 kms in 6 hrs downstream

and 40 km upstream in 8 hrs. Find the speed of

swimmer in still water?
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T T 1T & A7 36 Rt &1 & 6 He H a7 Far
2 37 40 T Y T g & T 8 5T § S €,
T 1 FTT 97 T § 7 w2

(A4.5km/hr (B)5.5km/hr (C)6.5km/hr

(D)7.5km/hr

. In 3 hrs a swimmer can bow 21 kms down stream
and 15 km against the stream in same time. Find

the speed of stream?

T T 7T & Ao 217 7 7 3w H v amr ®
o 15 ol TaTe v § Srar €, e i iy Ja
FL?

(A)1km/hr  (B) 2km/hr  (C)3km/hr  (D)4km/hr

. Two places are 108 km apart. Two boats start from
both places at same time towards each other. If
one boat is going downstream then other one is

going to upstream. After how much time will they

meet each other? If their speeds are 12 km/hr and
15 km/hr?

31 T 108t X &, TET Sg | 2 919 UF & 997
T UF AL K qF FAGAT LF FIAT 8, T TH 47
7T o |1 3 LT 79 T il Ao a ST Er g ar

o a9 aTg et s 3T =1 12 frt/eEeT o
155HT/==T 21?2
(A)4hrs (B)5hrs (C)6hrs (D) 7hrs

TYPE
. A boatman can row certain distance downstream
in 2hrs and upstream the same distance in 3 hrs. if
the stream flows at the rate of 4 km/hr. find the

speed of boat in still water?

UF ATfF g UF A7 FE T 2 5 H T g F
9 3 =5 § I FLAT g, W Gy A AT 4 km/hr
BT AT oI ST | 979 T ATA AT FL?

(A)20km/hr (B)21km/hr  (C)22km/hr  (D)23km/hr

. A boatman goes 6 km upstream and back again to
the starting point in 2 hrs. if the speed of water is 4
km/hr. find the speed of boat?

UF AT 6 T om=T F A1y o 7 6 R awr F
o ST # 2 =5 9aT 8,30 91+t & =J1er 4 km/hr
2, AT AT T AT AT FLN?

(A) 8km/hr (B) 9km/hr  (C)10km/hr  (D)11km/hr




